Simplifying an algebraic fraction by factorising - Higher
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Simplifying an algebraic fraction by factorising - Higher

1.  Simplify each fraction.

q) &Y * )y + 2)
(2y + S)(y + 3)

) (@ +5)(2a + 2)
(2a + 3)(a + 5)

(3m - 3)

<) mM+53m -3

(2w - 5)(3w + 2)

9D —mw -5

2. Simplify each fraction.

a) 2a2+11a +5
(@a+3)(a+5)

(b +2)(b + 6)

o) 567+ 76+ 6

2c?+11c +12
) ZczvocT4

2d2+71d +5
2d?-d-1

d)
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Simplifying an algebraic fraction by factorising - Higher

3. Each fraction has been simplified

incorrectly. Find and correct each
mistake.

2a2+7a+3 _(2a+1)(a+3) _(a+3)
V237+5a-3 ([2a-Na+3) (a+3)

(b+3) _  (b+3) _
O)sbr+76+3 B +3@b T 2Pt

4c?2-25 _ (2c-5)(2c-5) _ (2c-5)
)37+ c-15 " @coo)c+3)  (c+3)
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Answers
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Simplifying an algebraic fraction by factorising - Higher

1.  Simplify each fraction.

q) &Y * )y + 2) y+2)
(2y + 5)(y + 3) (y +3)
(@ +5)(2a + 2) (2a + 2)

)22+ 3)@+5) (a+3)

(3m - 3) 1
m + 5)(3m - 3) (m +5)

c)(

o) 2% (‘25\/) (_3?; 22 342

2. Simplify each fraction.

a) 2a2+1a +5 (2a +1)
(@a+3)(a+5) (a + 3)

(b+2)b+6)  (0+6)

o) S5+ 76+ 6 (2b + 3)
Q) 2c2+1c +12 (2c + 3)
2C2+9c + 4 (2c + 1)
gy 242+ 11d + 5 (d + 5)
2d2-d -1 (d-1)
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Simplifying an algebraic fraction by factorising - Higher

3. Each fraction has been simplified

incorrectly. Find and correct each

mistake. (2a + 1) and (2a — 1) are not equal therefore
2a2+7a+3 _(2a+1)(a+3Y_(a+3) will not cancel.

9 537+5a-3 (Za-T)(@a+3\ (@a+3)

(2a +1)
(2a -1)

(a + 3) and (a + 3) will cancel leaving

(b+3) _  (b+3) _ : . 1
b) 262+ 7o+ 3 (b +3)2b + 1@ Should simplify to S5 T

. 4c2 - 25 2¢ - 5)(2c -5D_ (2¢ - 5) Should factorise to (2c — 5)(2¢c + 5)
2c?+c-15 (2c-5)c +3) (c+23) (2¢ + 5)
(c+3)

e L

Should simplify to




